[ rons RN

LOW WEDGE CLAMPS PAT.P No.E-9918

R ] £ 3R

ME (£BER) C3604BD
AR (5REER) NBR - -
ZE 2t SCM435 # XHRC25 LB
e SCM435 & KHRC43

AR PR SR 2L
D =% @3h7x6 - « < 14

SRR R R PRRLE
£
h %4 g
| L
i3
B LB T T T EFRRA
(R R e ERFHLIH R R
W&
Y
iTee we RAME  mxxpmm  kpmm  BORPAE BARED if
976031 | LWC-04 | M4x0.7 3.9 0.4 16 0.9 1.4
976032 | LWC-06 | M6X1.0 55 0.7 50 1.9 8.4
................... 976033 | LWC-08 | M8x1.25 6.0 1.0 13.0 43 16.0
} 976034 | LWC-12 | M12x175 112 12 = 400 71 = 480
s O e
e - BEHE e e BABEEE  BAKRED P
iTae we R mamseE REGE RS o o
976035 | LWCD-04 | M4x0.7 6.7 0.4 16 0.9 13
976036 | LWCD-06 | M6x1.0 106 0.7 50 19 8.4
976037 | LWCD-08 | M8x1.25 131 1.0 13.0 4.3 16.0
976038 | LWCD-12| M12x1.75 220 = 12 400 71 . 460
Rf5 T H B HREAR. BARENH—MAE,
------------------- MR ;
ELL T I==RE:0) D pogIE:S)
) o 1 AN
EANREH - @ $ &j
B
PE R R Bk 5 e ° .
|
"""""""""" Sl I |
TR . Nemimn ]}
,,,,,,,,,,,,,,,,,,, wlJ] ] 7| w1 -~
o [
Fa. WER v
H —NH
Y
SERT O
me A B < D E F@%) B H (%) | J
"""""""""" LWC-04 92 102 3 25 = 46-50 39 6 M 4x0.7 - ;
T A LWC-06 156 173 5 4 78- 85 55 10 M6x10 32 2
................... LWC-08 20 21.94 5 5 100-11.0 6 13 M 8x1.25 3.2 2
. LWC-12 246 2714 10 8 123135 112 = 18  MI2x1.75 32 2
S R
we A B & D E F%) G H (%) i J
LWCD-04 | 9.2-10 10.2 3 2 46- 50 67 7 M 4x0.7 - -
LWCD-06 | 156-17  17.3 5 3 78- 85 106 11 M6x10 32 2
LWCD-08 |20 22 21.94 5 5  100-11.0 131 14 M 8x1.25 32 2
LWCD-12 | 24627 2714 10 6 123135 22 17 MI2x175 32 @ 2

http://www.nabeya.co.jp



